* K

Weekly Arithmetic 10 a day w/b 23.3.20
Monday Tuesday
1. I have 4 10p coins and 2 50p 1. | am thinking of a shape. It has
coin. How much money do | 8 vertices, 12 edges and 6
have? faces. What two shapes could
it be?¢

2. Jackis 100 cm tall. Aryanis 18
cm shorter than Jack. How tall
is Aryan? 2.11+9=__

This is the same as

12 +

20-_

X

3. There are 30 biscuits in the
biscuit tin. One child ate 3 3. There are 8 houses. Each

biscuits, another child ate 5 house has 2 people living in it.
biscuits. How many biscuits How many people are there

were left in the ting all togethere

4. There are 36 pens and | need
to share them fairly between
my 2 friends. How many pens

4. Julie has 50p. Ellie has 7 5
does each friend get? VUl P Eh %

coins, a 10p coin and a 20p
coin. She says she has the
same amount of money as

Julie. Is she righte Show your
5. Sam has 6 bags of pasta. Julie working ouf.

has 3 times that amount. How
many bags of pasta does
Julie have®?

5. Itis 18°C today. Tomorrow it is
going to be 6°C colder. What
is the temperature going to
be tomorrow?




1.

Wednesday

|

10

30

Put the following numbers on the
numberline: 15, 12, 27

2.There are 50 people on the

4,

5.

bus. 13 get off at the first stop
and 11 get off at the second
stop. How many people are
left on the bus?

.1 am thinking of a shape. It has

6 sides and 6 corners. What
shape is it

There are 5 tables in the in the
dinner hall. 5 children sit at
each table. How many
children are in the dinner hall?

There are 60 sweets. Each
child has 5 sweets each. How
many children are there?

Thursday

1. Ihave 1 10p, 2 20p and £1.00

in my purse. How much
money do | have altogether?

. Tomatoes cost 10p each.

Tanya spent 80p. How many
tomatoes did she buy?

. There are 30 cakes. 6 cakes

were eaten. How many cakes
are there left?

. Simon goes swimming at 11 o

clock. If he swims for an hour
and a half, what time will he
get out of the poole

. What time is shown on the
clock?g




Friday
1. Complete this fact family:

3 15 5

2.

Sam is pointing at the triangle.

A

O

@

He turns a half turn.

Tick the shape Sam is pointing at after the half turn.

3. Lily has 7 blue marbles and 8 pink marbles. Shaun has 4

purple marbles and 11 green marbles. Who has the most

marbles?e

4. There are 5 cars down each street. How many cars are

down 6 streetse Show your working out.







